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1. anX 1212 27T e writes NNX N2al NNX ndna why does it have to be naa
nnx? Since it’s two actions done at the same time. Is this only true if we hold
DXNX7 TWON?

2. The mwn writes, nwnanai noxMmw na. Why did the miwn leave out n'fnaxma?
Would the |*1 be any different if she was widowed?

3. Further to the above, what would be the case if she was married but not
n7v11?

4. nwnanmi noxMmw 0T wn writes that if she was still engaged there would be a
nnm arn. Why is this necessary? Isn’t it obvious that an nonx would be
nn'na?

5. The xna says that |'wiT7 90> would go to the father even if he already married

her off once and she got divorced, after 'oin'x. Would the father be entitled to
['vIT? o> if she was married and divorced, or only if she was engaged?
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If you have any comments or suggestions, please email me at
Ygrunhaus@gmail.com
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